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• 

• 

• 

Working hours (hour) =  Number of worker x scheduled workday x number of working hour per day

• 

=  
number of fatalities as a result of work − related injuries × [200,000 or 1,000,000]  

number of hour worked
 

• 

=  
number of high − consequence work − related injuries (excluding fatalities) × [200,000 or 1,000,000]  

number of hour worked
 

• 

=  
number of recordable work − related injuries × [200,000 or 1,000,000]  

number of hour worked
 

• 

=  
number of Lost − time injuries frequency × [200,000 or 1,000,000]  

number of hour worked



 

  

 

• 

=  
number of Lost − time Occupational illness frequency × [200,000 or 1,000,000]  

number of hour worked

• 

=
Total Number of Days away/restricted or transfer from injuries and illness × [200,000 or 1,000,000] 

number of hour worked

• 

=
Total Number of Lost Days from injuries and illness  of high − consequence work × [200,000 or 1,000,000] 

number of hour worked

• 

=
Number of lost day injuries and other occupational diseases that are not excused × 100

Total number of operating day in a year

• 

• 
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